Math 126 Name ,( €Y

Exam 3
Spring 2015 Show All Work

1) Iff(x) =3x—x? whatis f(x-1)? "
Flx-N = 3(x=1 —(x-1)
_ 3x-3 ~ (x2-2x+4))

- 3}‘__3 ,)(l —{"9)(", = }(L““{)r-‘-q

i)

2) If f(x)= i—j

a) What is the domain of f(x)
2"3(!\,4:‘—,3 or ("'0‘0117‘)(}/1'/100)

b) What are its x and y intercepts?

o x=0 y=3 ., (0.%)
 y=0 o =x-3
|7 3 =X (3, 0 )
¢) Iff(x) even, odd, both or neither? 4 70,,”
‘F(')() = —-¥-3 _ (ﬁg) . ij / — Wz THIK
x4 Tl A = fs9
3) Given the graph of g(x) on the right. la

a) What kind of symmetry does it have?

©pD ; ABeuT THE ORIE IV

b) On what intervals is it decreasing?

(-4,-1) v (1,.4)

c) List the x coordinate(s) of the local maximum(s). 4l

:"L, y-:'.’

)

d) What is the domain of g(x).

[-5.5]



4) Graph the following functions using the techniques of shifting, compressing, stretching,
and/or reflecting. Start with the graph of the basic function and show all stages.

a) f(x)=—|x|+2 RSO RE  PYL. 7 1

D) 9.'.:]7(’ ‘—_""t/

(?) l:’ -~ - Jx, — Uﬂ?\a{ CJC‘J‘-U'Y\

6 y;r}ﬂ*f?_ —2 Up &

b gt =—
® Y ;J;

2x ifx<0

5) Graph f(x)={x+1 ifx=0

wo‘f 4 KD

Sloge 2 (n¥ercept O

y - mrercept )

S‘Dfes )




6) The graph of f(x) is given below. ~ Graph g(x) = 3f(x) Vertiel sTee Y by 3

7) If fix) = § and g(x)“f;

a) Find fo gand its domain | ¥ - LI
=

F(fj Q\,J\‘"(x,‘,\‘ =)

dommain x4 70 5 D-5xlx#4§
= D= (-o04)uv(4,°)

b) Find g o fand its domain.

g (P =g (3) = 37

Doman Y40 x#0 — ('“qu>1—’(0‘"¢)?)”(1];‘&0)

L4y 77 [xdg
¢) Find g''(x)
S wikh
e -1 ) +4x
X ] ' c,j x) = = BN
HCERIBpLE
Solve Yo “ ﬁ"[ﬂ < .)2{ +4
X(T’—l): [
xu ~x = |
: xy = 11X
- 11X
d X



8) Put the quadratic function below in standard form and graph. Find the vertex and intercepts,

if any.

f(x)=x*+6x+5
F();) = )(z'f*b)( ""Ci "CI*{-

:(x +33L“"""

Vervex (-374)
TWTLRCEFATS
«‘/x-—-o \ =S  (o79)

S §=0  (x+3) =0
(x+3) =7

X = -SZ’Z

Y= *’J—S—

(-1,0) €50

9) The weekly profit from selling x Thingamajigs is given by P(x) = 800x — 20x2
= —20 ;2' + $00 x

a) How many Thingamajigs must the company sell to maximize profit?

Vertex ot y=--h _ -§0O0  _ K0
24 2 (-20)

20 7}11)13@ e )9S

b) What is the maximum profit?

k= £ (z0) = Yoo (20) - 20 (20)"
/6,000 - o000

= §oo0

—_—
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